SIMPLIFYING EXPRESSIONS WITH ABSOLUTE VALUES

1. Write down the definition of |x' — -
Hence a) if x > 0, simplify |x| +3;
b)  ifx <0, simplify |x| +3;
c) if x > 5, simplify lxl + 3.
2. Write down the definition of lx+ 2 l
Hence a)  ifx>3,simplify |x+2| +1;
b)  ifx <-2,simplify [x+2] +1;
¢)  if0<x <2, simplify |x+2] + 1.
3. “Write down the definition of Ix— 5 |
 Hence a)  ifx> 10, simplify [x—5| +x; -
b)  ifx<3,simplify [x-5| +x.
4. @) Tfx>S,simplify |x+2] + lx—5].
b)  Ifx<-2, simplify |x+2| + [x~5].
¢)  If-2<x<5,simplify [x+2] + [x—5].
5. Ifx>0,simp1ify|x|+|x+1‘.
6.  Ifx<0,simplify |x| + |x—1].
7. Ifx>6, simplify |x| + |x-2].
8. Ifx<0,simplify|x|+|x—2|.
9.  If0<x<l,simplify |x| + |x-2].
10.  Ifx <3, simplify lx~3] +2x.
11.  Ifx>3, simplify |x—2] —x.
12, If-2<x <0, simplify |2x— 1] + |x+3].
MSWBISZ
: 6. 1 -2x
1. &)  x+3 3. a) 2x-5 7. 2x-2
b) 3 —x b) 5 8. 2 -2x
c) x+3 4. a) 2x -3 9. 2
2. a) . x+3 b) —2x+3 10, x+3
b)  ~1-x o) 7 11 =2
) x+3 5. 2x+1 12, 4-—x

10




EXERCISE 4.4

Solve these equations:

L x| =6 6. |2x + 6] = |x + 10] I 1 =x — 2]

2. 4x| = 20 : 7. 3x — 12 = 0 12. 2|x + 8] = 3|x + 5|

3. ]x— 5 =38 - 8 |2x — 5| =|x +2| 13. 5]x — 7] = |9x + 1]

4 |2x —3}=17 . . o9 [Tx — 4] = 3% + 16] 14. 6lx + 3] —2]x + 1| = 0
505+ 2] = 12 10. |9x + 2f = ]3}5‘2; 4] 15. [7x — 3| = 4|x + 6|
Solve the following equations and check the validity of each solution.

16. 3Bx + 1] =2x +4 18. [2x] =9 — x 20. |6x — 5| = 5x + 27

17. Jdx — 1| = 2x + 7 19. [2x + 5| =3x + 9 21 [4—2x| =x — 2

T=X1g
- rogL = x o $C— =% 61
6— I0¢ = x g pI01— =x |
£10 ]~ = x ‘9] Hi— 106 ==x ¢
{t—10p— =x 'y grI06— =x ¢
9~ 107 =x ] f-10f=x"1y
F101— = x Q] fl—1og=x¢
110/, =x

g y=x

—10p=x ‘9
[— 100[=X b
ST =x-¢

§z~loz=x-g
E—-IOEI:X'Q
9F =x




